B Fewlif st Sem. ) MATL-A
DEPARTMENT OF MATHEMATICS, VSSUT, BURLA
MIDSEMESTER EXAMINATION

SUILIECT - MATHEMATICS - 1
Full Sarks: 20 Fimie-2 lwours
Areswer OONG T which iv computsory and any three e stfony el
oo et pead gt siiones,
Ube fipures in gl hand margin idicate masks,

LA pswer all parts of this question, [115)
\-f)ik!'mc Tk of & matrix.
Are the wny vectors (11 ] [0 0 1) and {1 1 0] linear
ndependem?

€} Vi the derived set of the st of all inegers £
AT e an examgfle of a sel which is both apen & closed.
L b set {1n, noe NY s closed. Justiry ?

ZeTapAsing Giauss Elimination methid solve 12.5)
XA + 4 -lIW =1
SX XY bS58 - AW =8
N-¥ +37.-1W =1
X HAY T v 2W LT

9 3 110
” ; LR |
.dj:)l‘rl ind the rank of the matrix A= E L 2.5
0 -6 1 9
Mﬁ the set of all veclors (v, vzva) in R such that

vy 3%y =0 form a vector space? 1F yes find the dimension and
linad a basis, [2.5]

MIJ the imverse of the following mulrix by Gauss-Jordan
elimanaticn method. 12.5]

Scanned by CamScanner

A1y 5

5 4 9
A qud P the mnk ol the l'qunwmg L [ PP cleterimi s
| B
5 n 7 N
A ; (2.5
9 M a2
I3 115 |6
rhy  Show thal the sel {1, V2, =172, 13, =10, .. | isneither
open of clased, |2.5|

5 (e Using e & technique find the right hand Tunn of
: as X0, 11.5)

o)

L

Wm the contimiity of 12.5]
-x' L xsn

Sx-4, 0ex=<l
fixy=q -,
' -, lexel

k4 d, a2

ma=012

() Prove that union of arbitrary family of open sets is open.

., 125
by Test discontinuity of the function fix) = x - ix]
ntx=3. 12.51



